EARAROBREBRT —5 XN—ZXBISH—F 202111848 () 15EPI516H

E%*EEI? YSZR3®LOP BRI
[AXE%] 1 & :15,000,000 @ 2 3#&:4,200,000 M ~ 33#&:3,150,000 9 4 3% :2,100,000 @ 5 & :1,050,000 M
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
<= - BEZK :05. -8-6- 0| - ZEARL (L@E)
117113 7420 9—> 48 2D 2((53 7-8-6-1 | 38.0 2 (4_923) gﬁmfz &
RiNA0O B:HTATANO—F "= %
~/ v o3 | BT 2:05.6 10-9-7-5 [38.0| — 6 | 502 |MEAHES (LEE)
218l15| T TAVINT b 55.0 RV o | #ERE =
RiANITVFY B:xFTzU—TX bid=g e ]
Ny - v 9| BRET 2:05.8 9-10-8-7 [38.1| — 4 512 | BESE (JbisE)
3011 =LY I7—Ib 77| &% " -4) ) LR —F5TLy KR
RTVYFFE2T 4 B:F3VIAML—R BEZIY R
— — 4 6 | WUARIXEE 2:05.8 6-4-5-4 |38.8| -— 5 494 | JISHA (GbEE)
417 12| Y3—20ILY 56.0 F9%) © |LiEE#
R:TSYIIALR B:IRI—LRF— L—Zk—R 415
= BREBIRSE :06. -3-3- . - HoEa JLEE)
5 F—F—T#+—2R o6 | HEh (22016/23) 3-3-3-2 |39.4 8 :1522) e &
RVYRUIURIR B:FvYF4—RA N7 TFHOKS
N BREFE: :06. -12-13- . - HPEZ JbEE)
6 NeU—)N—1— i o6 e 2 ?1% 5 |12-12-13-12| 37.7 1 (S—Zz; I &
RiNA40O B:FPITRANVRS estiive ]
N < BEE :06. -7-11- . - BHBE (Jvss)
- 2SIV # o6 | BER 2 ?26) 9 7-7-11-10 | 38.3 13 (ﬁg) ﬁgﬁﬂ &
Ri—5—IvT B:I5U4I—Ya (B) tBI1-—KL—yavEEI 7
- BaIEREE : -13-13- - Aa)lIFEE (duEE)
8 IJAUF 4 2T — K L B 2.(017).1 13-13-13-13| 38.3 12 (5_23 =il
RS/ IIv T4 B:TYRS—L4 RS
H EEE :07. -10-9- . - MNEER JbsE)
9 YT/ TIFA N i 6 o 2(10/72)2 11-10-9-9 | 39.1 9 (fi) e &
RIIRART—VYF— B:rAFAU—R WO e
< v 4 | BHERE 2:07.2 1-1-1-2 | 40.5| - 1 508 | ELEA dLimE)
10 YyPa—k 5.0 56 o) | ) MEXF =
R:NA40 B:Fv—LIVITIL #HREt Ta4X
Jay v . 6 | HiHH 2:07.3  [14-13-15-13|38.5| — | 7 | 514 |ZUSA (LEE)
1 Hy k-2 R 1) Lo |
R:¥v/0704 8B:ZVFFUF BowHks
~ )~ HH H o5 | SRS 2:07.5 15-15-12-10{ 39.1 | — | 15 | 466 |#lEiFxE (LiEE)
12| 8l14| AT VALY GY 56.0 ) () |EEEE
R:¥y/0704 B:FAUTVNFIRF it %us
~ S~ e SRAYEEA : -2-2- - BHIEE (JusE)
N BOPACEPI 5 2 2.(017).7 2-2-2-6 | 41.0 3 (5+260) MEEE &
RibE=RT—F— BEI-VFFFvY s
~ = BH¥E :08. -4-3- . = KIF (dtigiaE)
15| 9| F—OWLFIVF it 4 i3 2 ?Eg 8 3-4-3-8 | 41.8 10 :3} Al | &
RNV vH—L B:FPFASUT FHhI)T7—L
- SR o5 | NEHRS 2:13.7 3-4-10-15 | 44.9| - 14 | s00 |FHLX dLEE)
15/5]8 | P=—03DRK 56.0 (94H) (+8) EEEEE B
RT—IVRPUI—IL B:IAYUY R BRAM SHI7—L
@ 1—F—&RIEL
13—7— 7.6,(8,9,10),12, (4,13),1,15,5,11,3,2,14
20—F— 7,6,10, (8,9,12),4,13,15, (1,5),11, (2,3) ,14
30—7— 7,6,(9,10),12,13,15,1,5,8,4,14, (3,11) ,2
43—F— 13,(7,10),12,15,6,1,9,5, (4,14) ,11, (2,3) ,8
0 ILR=E
BB 13 360 | [ DA K 13-15 1,100/ e B 7-8 1,810 3EE 1-13-15 4,540
B B 13 170/ 1-13 380 5 & 13-15 2,750 3EH 13=15-1 22,480M
15 370 1-15 1,690/ Ba 13-15 4,070
1 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.



